Beziehungadaptiertes (aCIELAB ( C*4p  L*) und relativesCIELAB ( c*, t*)
System: HG88_FRS09_92_D65_00%_O0yx (1% % )/ (L*vy - L*

. M=(m =)/ Cw - )
CIELAB-Bunttonwinkel:
hap ¢=[34, 92, 143, 225, 313, 338]
hap eF[26, 92, 162, 217, 272, 329]
hap, 126, 92, 162, 217, 272, 329100G J00G M=Maximalfarbe

o Plap=* jab* = CHiapr [y = 0.5]
1ab*  €*1ap+=C*ap,a/ C*an,am

ajap+=C"jap» COS hpy
0*1ab*=C*jap+ SIN hap

relative Buntheit
ajab*




Beziehungadaptiertes (aCIELAB ( C*4p  L*) und relativesCIELAB ( c*, t*)
System: HG88_FRS09_92_D65_00%_OLjs —(1% = — %}/ Ly ~L*

. M=(m =)/ Cw - )
CIELAB-Bunttonwinkel:
hap ¢=[34, 92, 143, 225, 313, 338]
Nap e=[26, 92, 162, 217, 272, 329)
hap, 126, 92, 162, 217, 272, 329100G J00G M=Maximalfarbe

o Plap=* jab* = CHiapr [y = 0.5]
Jab* €413+ =C*ap,a/ C*an,am

ajap+=C"jap» COS hpy
9*1ab*=C¥jap* SIN hap

relative Buntheit
ajab*




Beziehungadaptiertes (alCIELAB ( C*5p o L*) und relativesCIELAB ( c*, t*)

System: HG88_FRS09_92 D65 25% OO —(1+,, ~ L* ) / (L*yy ~L*n)
. m=(m N w-L'N

CIELAB-Bunttonwinkel:

a1 labr = CYlaps [ = 05
hap (=[34, 92, 143, 225, 313, 338] tab =" layt = e [ ]

D¥jabs cx

Nab 142, 109, 175, 230, 286, 345 1ab*=C*an,a/ C*ab,am
hap (26, 92, 162, 217, 272, 328G J00G M=Maximalfarbe

5 2*ay =C¥jap+ COS By
0*|ap=C¥jap+ SIN hap

relative Buntheit
ajab*




Beziehungadaptiertes (aSIELAB ( C*gp, 5 L*) und relativesCIELAB ( c*, t*)
System: HG88_FRS09_92 D65_25%_O1px  —q * . — | * \y/ (L¥y - L*

. m=Lm ~ LN Cw - L)
CIELAB-Bunttonwinkel:
hap (=[34, 92, 143, 225, 313, 338]
hap e[42, 109, 175, 230, 286, 343}
hap (26, 92, 162, 217, 27J?2‘3&g] J00G M=Maximalfarbe

ol

o lap =1 japr = C¥japs [*m = 0.5]
Jab* €413+ =C*ap,a/ C*an,am

ajap+=C"jap» COS hpy
9*|ap=C¥jap+ SIN hap

relative Buntheit
ajab*




Beziehungadaptiertes (alCIELAB ( C*5p o L*) und relativesCIELAB ( c*, t*)
System: HG88_FRS09_92_D65_50%_O0p\ _* . _ | )/ Ly -L*

. m=(L*m N/ (Lrw =L )
CIELAB-Bunttonwinkel:
hap (=[34, 92, 143, 225, 313, 338]
hap e=[59, 127, 189, 244, 300, 357
hap, (26, 92, 162, 217,272,329]  Joog M=Maximalfarbe

lap =1 japr = C¥japs [*m = 0.5]

* * =
D¥lab* ctap=Capal Capam

ajap+=C"jap» COS hpy
0*|ap=C¥jap+ SIN hap

relative Buntheit
ajab*




Beziehungadaptiertes (aCIELAB ( C*5p, o L*) und relativesCIELAB ( c*, t*)
System: HG88_FRS09_92_D65_50% Ol —% \ _ | )/ (L -L*

. m=(L*m N/ (Lrw =L )
CIELAB-Bunttonwinkel:
hap (=[34, 92, 143, 225, 313, 338]
hap e=[59, 127, 189, 244, 300, 357
hap, (26, 92, 162, 217,272,329]  Joog M=Maximalfarbe

5 lap =1 japr = C¥japs [*m = 0.5]
Jab* €413+ =C*ap,a/ C*an,am

ajap+=C"jap» COS hpy
9*|ap=C¥jap+ SIN hap

relative Buntheit
ajab*




Beziehungadaptiertes (aCIELAB ( C*4p  L*) und relativesCIELAB ( c*, t*)
System: HG88_FRS09_92_D65_75%_O0p«  — (1% = — %}/ (L ~L*

. M=(m =)/ Cw - )
CIELAB-Bunttonwinkel:
hap ¢=[34, 92, 143, 225, 313, 338]
hab e=[75, 144, 203, 258, 314, 371]
hay 7126, 92, 162,217, 272,320) g M=Maximalfarbe

lap =1 japr = C¥japs [*m = 0.5]

| * =
D12 C*lap*=C*apa/ C*an,am

ajap+=C"jap» COS hpy
%13+ =C*jabe SIN hyp

relative Buntheit
ajab*




Beziehungadaptiertes (aCIELAB ( C*4p  L*) und relativesCIELAB ( c*, t*)
System: HG88_FRS09_92_D65_75%_O1yx (1% % )/ (L*vy - L*

. M= - L)/ (Lrw L)
CIELAB-Bunttonwinkel:
hap ¢=[34, 92, 143, 225, 313, 338]
hab e=[75, 144, 203, 258, 314, 371
hap (26, 92, 162, 217, 272, 329] 100G M=Maximalfarbe

lap =1 japr = C¥japs [*m = 0.5]

| * =
512 C*lap*=C*apa/ C*an,am

ajap+=C"jap» COS hpy
%130+ =C*jabe SIN hypy

ielative Buntheit
ajab*




